DDE VP90 (apt. VP90)

DDE VP90 (apt. VP90)

DYNAMIC DRIVE EQUIPMENT

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 1




DDE VP90 (apt. VP90)

Ne| HaumeHoBaHue Kon-so| ApTukyn

21 1

22 | SkcueHTpYIK "BrubpaTtop” 1 154000

23 | Bubporacutenb 4 153002

24 |ranka M10 4

25 4

26 4

27 4

28 4

29 | BuHT M16x40 4

31 1 153003

32 | BuHT M10x30 4

33 4

35 | Aguratenb 6eH31HOBbIN 1 151000-4
yeTblpex-TakTHbIn DDE PV90-H

36 | BUHT M8x50 4

37 4

38 4

39 [ NnactviHa KpenneHws gBuratens 1 153007

40 | NnacTuHa Kpennexws guratens 1 153006

41 1

42 1

43 | Ban Konec 1 155001

44 | Koneco 2 155002

45 | LWkuB Begywmn 1 152000

46 | LnoHka wkwuea Begywero C5x35 1 010005

47 | lWan6a wKkmnBa BegyLiero 1 152005

48 1

49 | BuHT M8x25 1

50 1

51 | PemeHb BU6pONAUTHI 1 1 011544-1
3x720 Li (aBur.ausens)

51A| PemeHb BUGpONANTLI 1 011544-2
13x838 Li (aBur.6eH3unH)

52 | KpblluKa pemHsi BHyTPEeHHAs 1 153004

53 | Koxyx pemHst 1 153005-2

54 | BuHT M8x20 1

55 5

56 5

57 | BUHT M8x25 4

61 | Kopryc 5KCLIEHTPUKA OCHOBHOM 1 154009

62 | BONT CIMBHOIA/3aNMBHON SKCLIEHTPYIKA 1 154002

63 1

68 1

69 | MoAWMMNHK LaprKoBbIil 2
DDE 6211-GB276 3KcLeHTpuKa 027011

70 | Kpbllka kopryca 3KCLEHTPWKa NpaBas 1 154008

71 | Kpbllika KOPMyca SKCLEHTPYKA N1eBas] 1 154006

72 | KpbllwKa 3KCLieHTprKa 1 154005

73 | CanbHUK 3KcUeHTpuKa 35*8-GB9877 1 098035

74 | KonbLio ynnoTHUTENbHOE 2 034100
$100-GB3452.1 3KCLeHTpUKa

75 | BUHT M8x25 8

76 8

77 8

78 | LLIKMB 3KCLEHTPUKa 1 154004

79 | LLINoHKaLWKMBa SKCUEHTPYKa 1 010008

80 | Lllai6a LwKMBa SKCLEHTPUKA 1 154003

81 | Bunt M10x25 1

Ne| HaumeHoBaHne Kon-so| ApTukyn
82 1
83 | BuHT M6x30 2
84 2
85 | 3a)1M pe3nHOBbIN 1 105001
86 |larka M6 2
87 | Brynka pesuHoBas 4 155003
91 | Pyuka-pykosTKa 1 156004
92 | Brynka 2 156003
93 | Brynka pesuHoBas 2 156002
94 | Bubporacutenb pe3nmHoBble PyYKM 2 156005
95 2 096012
96 | BUHT M12x65 2
97 2
101| fletanb pama 3awutHas 1 155000
102| BuHT M10x25 4
103 2
111| bak gna Boapl 1 157001
114{ lityuep c KpaHoMm 1 157007
115] LWinaHr 1 157004
116| lep>kaTenb wnaHra nesbiit 1 157003
T17] [lep>katenb wnaHra npasbin 1 157005
TT8[BuHT M8x30 2
119 5
121| Npo6ka DDE PV90-H 6aka 1 157002
122| Bunt M10x30 1
123 2
124 1
125| Pbiyar rasa 1 A2004001
126| Tpoc rasa 1 156006-1
127| MnactviHa HakNaaKy Pe3MHOBO 1 2001002-2
128 2
129 2
130| BuHT M10%45 2
131| Haknagika pe3vHoBas NoAoLwBbl 1 2001001-2
132 1

OcHacTka
BH | TpaHcnopTtuposouHoe ycTpoiicteo 7500100103
BH | KoBpuk nnactvkoBbiii cneuyanmsmp. 7500100104
BH | Bak gns Boabl k PV90-H 7500100106

(KOoMNneKT noacoeanHeHuns)

DYNAMIC DRIVE EQUIPMENT

DDE VP90 (apr. VP90)

Technical department

Ass

embly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




